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Alok and Bhane play the following min-max game. Given the expression N=40+X+¥-Z, where X, ¥ and £
are variables representing single digits {0 to ), Alok would like to maximize N while Blam would Itke
minimize it. Towards this end, Alok chooses a single digit rumber and Bhanu substitutes this for a variable
of her choice (X, ¥ or Z). Alek then chooses the nexl value and Bhanu, the varizble to substitute the value.
Finally Alok proposes the value for the remaining variable, Assuming both play to their optimal strategies,

the valus of N at the end of the game would be

49
51
31
58

a1

The IT gaint Tirnop has recently crossed a head count of 150000 and eamings of 7 billion, As one of the
forerunness in the technology front, Timop continues o lead the way in products and services in [ndia. AL
Tirnop, all programmers are equal in every respect. They receive identical salaries and also write code at
the same rate. Suppose 14 such programmers take 14 minutes to write 14 lines of code in total. How leng
will in take 5 programmers to write 3 lines of code in total 7

2
]

14
70
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3

14 people mezt and shake hands, The mivcimum number of handshakes possible if there is to be no ‘cyele’
of handshakes is (A cyele of handshakes is  sequence of people al, #2,...2k, k=2 such that the pairs
fala2}, {a2,a3},.... {efk-1), ak}, {ak, al} shake hands).

R
« 12
1

13
4,

45 suspects are rounded by the police and questioned about a bank robbery. Cnly one of them is guilty. The
suspects are made to stand in 2 line pnd each person declares that the person next to him on his right is
gilley. The rightmost person is not questioned, Which of the following possibilities are muet A All the
suspects are lying. B. The leflmost suspect is guilty. ©. The rightmost suspeet is guilty.,

= Aonly
s AandC
# Bonly

« AmdB
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The dynamics of crowd behaviour are hard to study becawse wsually people are not reliable witenesses of
their own behaviour, Now consider 4 people standing in the quere of a supermarket. You want to predict
their behaviour based on their age group. You get 1o know from the supermarket records that their average
age 4 vears ago was 43 years. Afier a while, another person joins the queue and the present average of all
the 3 is 0 vears, The present age of the last person in the quews is :

28 vears
e 12 ypars
& 32 years
= 24 years

[

COmne day Snowwhite meets Fal and Unicomn in the Fairyland. She knows the Pal lies on Mendays, Tuesdays
and Wednesdays, and tells the tuth on the other davs of the week, Unicom, on the other hand, lies on
Thursdays, Fridays and Saturdnys, but tells the truth on the other days of the week, Now they make the
following statements to Snowwhite — Pal: Yeaterday was one of those days when I lie. Unicom: Yesterday
was one of those davs when [ liz too. What day iz it?

#  Tuesday
= Monday
+  Thursday
= Zunday

-
da

The Barnes Foundation in Philadelphia has one of the most extra-ordinary and idiosyncratic collections in
French impressionist art, Dr. Bames who put together thiz collection has ingisted that the paintings be hung
in a particular manner specified by him at 4 museum designed by the French erchiteet Paul Philippe Cret
who also designed the Rodin Museum. The museum has, say, seven galleries — Eugene Boodin, Cassat,
Boudin, Forain, Gonzales, Manet and hMonet. Visitors rench the mein Engena Boudin by an elevator, and
they can enter and leave the exhibition only through Eugens Boudin gallery. Once inside, visitors are free
to move as they choose, The following list includes all of the doorways that connect the seven galleries:
There is 2 doorway between Eugene Boudin and Cassan, a doorway between Eugene Boudinand Bondin,
and a doorway between Eugene Boudin and Gonzales galleries. There is a doorway betwesn Cassatt and
Boudin galleries. There is a doorway between Gonzales and Forain and a doorwey berween Gonzales and
Manet gallaries, There is & doorway between Manet and Monee galleries, Which of the following rooms
CAMMNOT be the third gallary thar any vizitor enters §

= Aonet
= Boudin
# Forain
«  Cassatt
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Mr. Beans visited & magic shop and bought some magical marbles of different colours along with ether
magical items. While retumning home whenever he saw a coloared light, he took oot marbles of similar
colours end counted them. 5o he counted the pink coloured mariles end found that he has bought 23 of
them. Then he counted 14 green marbles and then 21 vellow marbles. He later counted 30 purple coloured
markles with lim, But when he reached a crossing, he looked ara red light and started counting red marhles
and found that he had bought 23 Bed marbles. As soon as he finished counting, it staried raining heavily
and by the time he reached home he was drenched. After reaching home he found that the red, green and
yellow marbles had magically changed colours and became white, while other marbles were unchanged. It
will take | day to regain is colours, but he needs to give afleast one pair of marbles to his wife now, So
how many white marbles must be chooss and give to his wife so as to ensure that there is atleast ooe pair of
red, vellow and green marbles 7

46
35
25
43

2.

A greengrocer was selling watermoelon at a penny cach, chickoos at 2 for a penny and peanuis at 3 for a
penny. A father spent 7p and got the same amount of each type of fuit for each of his thres children, Jane,
Toe and Till, Jane is three vears alder than Jill and Joe i3 exactly hall the age of Jane and Till together, What
did each child get 7

| watermelon, 3 chickoos, 2 peanuts
1 watermelon, 1 chickos, | peanus
| watermalom, 2 chickoos, 2 peanuts
s 1 watermelon, 2 chickoos, 1 peanut

1.

Ciiven 3 lines in the plane such that the peints of intersection from & triangle with sides of lengih 20, 20
end 20, the number of poimts equidistant from all the 3 lines is

— o Lk Ju

-
i1.
33 people {zl, a2,...,a33} meet and shake hands in a circular fashion. In other words, there are todally 33

handshakes mvolving the pairs, {al,n2}, {aZ,a3},....fa032, a33}, {a33, al}. Then the size of the smallest zat
of pecple such that the rest bave shaken hands with at least one person in the secis

« 10
# 1]
LI 1]
e ]2
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Consider two vessels, the first containing on litre of water and the second containing one litre of pepsi.
Suppose you take one glass of water out of the first vessel and pour it into the second vessel. After mixing
you take one gless of the mixtire from the second vessel and pour it back into the ficst vessel. Which one of
the following statements holds now?

*  None of the statements halds e,

e There 15 less pepsi in the first vessel than water in the second vessel.

#  There is more pepsi in the et vessel than water in the second vessel,

e There is as much pepsi in the first vesse] as there i5 water in the second vessel,

13.

Alok is attending a workshop ‘How to do more with less’ and today’s theme is Working with fever digits.
The speakers discuss how a lot of miraculous mathematics can be achieved if menkind (as well as
womankind) had only worked with fever digits. The problem posed at the end of the workshop is 'How
many 10 digit numbers can be formed using the digis 1, 2, 3, 4, 5 (but with repetition) that are divisible by
4% Can you kelp Alok find the answer?

« 1053125
= TE1230]

e 2441407
= 24474046

14.

For the FIFA warld cup, Paul the octopus has besn predicting the winner of each match with Emazing
suceess. I 35 rumered that in & match between 2 teams A and B, Panl picks A with the same probability as
A's chances of wining, Let*s assume such rumors fo be true and that in & metch betwesn Ghana and
Bolivia, Ghana the strenger team has a probability of 1112 of winning the game. What is the probability
that Paul with correctly pick the winner of the Ghana-Bolivia gama?

. G2
L | |
* B5
| .15

13

There are two boxes, one containing 3% red balls and the ather containing 26 areen balls. You are allowsd
to move the balls berween the boxes so that wheo you choose & box at randoin and a ball af randem from
the chosen box, the probability of petting a red ball is maximized, This maximum probahility is

Al
e 5
a

= 30



14.

After the typist writes 40 letters and addresses 40 envelopes, she inserts the letters randomly into the
envelopes (1 letter per envelope). What is the probability that exactly | letter is inserted in an mprover
envelope?

e | -140
= LMD

« 1601

= 0

17.

A hare and a tortoise have a race along a circle of 100 yards diameter. The tortoise goes in one direction
and the hare in the other. The hare starts afier the tortoise has covered 13 of its distance and that too
leisurely. The hare and fortoise meet when the hare has covered only 1/4 of the distance. By what factor
should be lare increase its speed 50 a5 the win the race?

« 4

. 3

a |2
w500

18,

A sheet of paper has statements numbered from 1 to 20, For each value of n from 1 to 20, statements n s2ys
* At least n of the statements on this sheet are true.” Which statements are truz and which are false?

# The odd numbered sfaterments are true and the even numbered are [alse,
s  The first 13 statements are folse and the rest are troe,

The first & statements are tree and the rest are false,
#  The even numbered stalements are true and the odd numbersd acs filse,

1%,

The question is followed by two statements, A and B. Answer the question using the following instructions:
Chaase 1; if the quastion can be answered by using ens of the statements alone but not by using the othes
staternent alone. Choose 2; if the question ean be answered by using either of the statements alone. Choose
3: if the question can be answered by using both statements fogether but not by either statement alote.
Chaosa 4: if the question cannot be angwered on the basis of the two statements, Zahaer spends 304 of his
income on his children's education, 20% on recreation and 10 % on healthcare. The coresponding
percentages for Sandeep are 40%, 25% and 13%. Who spends more on children’s education? A” Zaheer
spends more on recraation that Sendeep B: Sandeep spends maore on healtheare than Zaheer,

i = 3 Tk



0.

Subha Patel is an olfactory scientist working for International Flavors and Fragrances, She specializes in
finding new scents recorded and reconstiuted from nature thanks to Living Flower Technalogy. She has
extracted fragrance ingredients from different flowering plants into bottles labeled herbal, sweet, honey,
anisic and rose, She has learned that a formula for a perfumes is acceptable if and only if it does not violate
any of the rules listed: 1f the perfume contains herbal, it must also contain honey and there must be twics as
much honey as herbal. If the perfume contains sweet, it must also contain anisic, and the amount of anisic
must equal the amount of sweet. honsy eannot be used in combination with anisic. gnizic canned be used in
combination with rose, If the perfume contains rose, the amount of rose must be greater than the total
amount of the other essence or essences used. Which of the follewing could be added to an unacceptable
perfume consisting of two parts honey end one part rose (o make it acceptable?

&  Two ports rose
= Ope part herbal
& Two parts honey
s Che part sweet

1.
The citizens of planet Oz are 6 fingered and thus have developed a number system in base 6, A certain

strear in Oz contains 1000 buildings numbered from 1 to 1000. How many 3's are used in numbering these
buildings? Express your answer in base 10,

v 144
LT
« 108
s 35
2k

Recent reports have suggested that sportsmen with decreased metabolic rates perform better in certain
sports. After reading one such report, Jorden, a sporisperson from Arlington decides to undergo a rigorous
physical training program for 3 months, where he performs Yoga for 3 hoors, walks for 2 hours and swims
for | hour each day. He says: T began my training on @ Wednesday in a prime number menth of 2008 1 lost
1%4 of my ariginal weight within the first 30 days. In the next two months combined, 1lost 1 Kg. Tfhe
walks nt 5 mph over a certain journey and walks back over the same rowte at 7 mph at an altitud= of 2400
ieters, what is his average speed for the journey?

* 5383
L
s G0

e 3500



23,

A schoolvard contains only bicyeles and 4 whesled wagons. On Tuesday, the totl number of wheels in the
schoolyard was 134, What could be pessible number of bicycles?

« 16
e 15
s 18
« 14

24,

A sheet of paper has statements numbered fom 110 20. Forall values of n from 1 to 20, statement o says:
‘Exactly n of the statements on this sheet are false.” Which staterments are trus and which are false?

The even numbered stetements ars trie and the odd numbered statements are false.
All the statements are filse,
s The odd numbered statements &re true and the even rumbered statements are false.
s The second last statement is trus and the rest are false.

23.

There are two water tanks A and B, A is much smaller than B. While water fills at the rete of one lire every
hour in A, it gats filled up like 10, 20, 40, 80, 160 .. in tank B. (Al {he end of first hour, B has 10 litres,
sacond hour it has 20, and so on). Iftank B is 1/8 filled after 5 hours, what 15 the toral duration required o
fill it complately?

& 9 hours
» Thours
« 3 hours
* 3 hours

26,

A hallow cube of size 5 cm is taken, with a thickness of 1 em, It Is made of smaller cubes of sitze 1 cm. Tfd
faces of the outer surface of the cube are painted, totally how many faces of the smaller cubes remain
unpainted?

« 0900
= 418
« 300
« 200
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Alice and Bob play the following coins-on-a-stack game. 100 coins ars stacked one above the other. Ohipe of
them is a special {gold) coin and the rest are ordinary coins. The geal is 1o bring the gold coin to the top by
repeatedly moving the topmest coin to another position in the stack. Alice starts and the plavers lake tums.
A turn consists of moving the coin on the top to a position | below the top coin (for some § becwesn {) and
100). We will call this an i-mave (thus & 0-move implies doing nothing), The provize is that an i-mowve
cannot be repeatad; for example ence & player makes a 2-move, on subsequent furns neither player can
make & 2-move. If the gold coin happens to be on top when it's & player's tum then the player wins the
game. Initially, the gold coin is the third coin from the top. Then

In order to win, Alice’s first miove should be a [-move,

In order to win, Alice’s first move should be 3 (-move.

Alice has no winning strategy.

In order to win, Alice’s first move can be 2 0-move or a 1-move,

- ® % @

28

The teacher is testing & student's proficiency in arithmetic and poses the following question: 12 ofa
number is 3 more than 1/6 of the same number, What is the mumber?
Can you help the student find the answer?

« 0
= 10
.

28,

A circular dashboand of redius 1.0 foot is at & distance of 20 feet from You. You throw & dart at it and it hits
the dartboard at seme point Q in the circle. What is the probability that © is closer to the center of the circle
than the periphery?

« .00
mal =
A
= 50

a0,

A result of global warming is that the jce of some glaciers is melting, 13 vears after the ice disappears, tiny
plants, called lichens, start 1o grow on the rocks. Each lichen grows approximately in the shape of a circle.
The relationship between the diameter of this eircle and the age of the lichen can be approximazed with the
formula: =104t = 13} for t = 13, where d represents the diameter of the lichen in millimeters, and ¢
represents the number of years after the ice has disappeared. Using the above formula, calculate the
diameter of the lichen, 45 years after the ice has disappenrsd.

e E0
# 437
= I3

e 320



Al.

25 people meet and shake bands, The maximum number of bendshakes possible if thers is to be no *ovele”
of handshzakes is (A cycle of handshzkes is a sequenca of people al, &2, ..., ak, k=2 such that pairs {al,
a2}, {a, 83}, ..., {alk-1), ak}, {al, al} shake hands).

s 24
Wl gl
s 2]
s 3

31,

Consider two cans, the first containing one litre of water and the second containing ong litre of pepsi.
Supposz you tzke one cup of water out of the first can and pour it into the second can, Afier mixing you
take one cup of the mixfurs from the second can and pour it beck into the first can. Which ane of the
following statements bolds now?

There is less pepsi in the first can than water in the second can,

There is more pepsi i the first can then water in the second can.

Mone of the statements holds mus,

There iz as much pepsi in the first can a2 thers @5 water in the second can,

o 8 B

33,

A greengrocer was selling orange at & penny each, olives at 2 for a peony and grapes at 3 for a peooy. A
father spent Tp and got the same amownt of each type of freit for each of his three children, Jane, Jos, and
Jill. Jeme is three years older than Jill and Joe is exactly half the age of Jane and Jill togecher, What did each
child get?

= 1 orange, 2 olives, 2 grapes
& | orange, 3 olives, 2 grapes
s 1 ornge, 1 olive, 1 grape

* | orenge, 2 olives, 1 grape

34

A sheet of paper has statements numbered from L to 200 For each valoe of n from | to 20, statement n savs
‘At least n of the statements on this sheet are true,’” Which statements acs true and which are falss?

& The even numbered statemments are tree and the odd numbered are filse
& The first 13 statements are false and the rest are e,

= The fist & stafements are troe and the rast are falss.

#»  The odd numbered stetements are free and the even numbered are false.



a5,

43 suspects are rounded by the police end questioned about a bank rabbery. Only one of them is guiloy. The
suspects are mads 1o stand in @ line and each person declares that the person next o him on his right is
guilty, The rightmost person i sof questioned, Which of the following possibilities are true? A, All the
suspects are ying, B. The lefimost suspect is guilty, C, The rightmost suspect is guilty,

e« Aand C
s AgndB
s A only
«  Bonly

3.

Ferrari 5.p.A. iz an lielien sports car manofacturer base in Maranello, [ialy. Founded by Enzo Ferrari in
1928 as Scuderia Ferrard, the company sponsored driver and manufactured race cars before moving into
production of street — legal vehicles in 1947 as Ferrari 5.p.A. Throughout i1z history, the company has bee
noted for its continued panicipetion in racing, especially in Formula One, where it has enjoved great
success, Rohit once brought & Ferrard, It could go 2 times as fast as Mohit’s old Mercedes, If the speed of
Mohit's Mercedes is 40 Kmehr and the distence traveled by the Farvari is 913 Km, find the tocal time tken
for Bohit to drive the distance.

= 12 Hours

« 22 Hours

« 456 Hours

= 11.41 Hours

2.

The teacher is festing a student’s proficiensy in arithmetic and poses the following question: 173 of a
number iz & more than 108 of the same number. What is the mumber?
Can vou help the student find the answer?

35
&
= 37
= 36

38,

Eecent report have suggested that sporismen with decreased metabolic rates perform beter in cerain
sparts. After reading one such report, Jordon, a sportsperson from Arlington decides to undergo a rizorous
physical maining progrem for 3 months, where he performs Yoga for 3 houres, walks for 2 hours and swims
for 1 howr each day, He says: T began my iraining on o Wednesday in o prime number month of 2008. T last
1% of my eriginal weight within the first 30 days. In the next two months combined, Tlost 1 Kg. [The
witlks af 5 mph over a certain journey and walks back the same route of § mph at an altitede of 200 meters,
what is his average speed for the journey?

G.15

308
= 450
e 2567
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Ihe result of global winming is the ice of some glaciers is melting. 19 vears after the ice disappears, tiny
planets, called lichens, start to grow on the rock. Each lichen grows approximately in the shape of a cingls,
The relationship between the diameter of the circle end the age of the lichen can be approximated with the
formula: d =12* (1-1%) for t=19, where d represents the diameter of the lichen in millimelars, and t
represents the number of years after the ice has disappeared. Using the ahove formula, caleclate the
diameter of the lichen, 32 years after the ice has disappeared.

384

155
L L
= 2G5

40,

There are two boxes, one contzing 12 red balls and the other containing 47 green balls. You are allowed 1o
move the balls Between the boxes so that when you choose 2 box af rendom and 2 ball at random from the
chosen box, the probability of getting = red ball is maximized. This maximum probabilicy js:

8 A0
« M
s 10
® 50

41.

The citizens of planet Oz zre fingered and thus have developed a rumber system in base 6. A certain street
i Oz containg 1000 buildings numbered from 1 to 1000. How many 2's ere used in numbering these
buildings? Express your answer in base 10.

[44
24
108
38

" 8 B ®

42,

The question is followed by two statements, A and B, Answer the question using the fallowing instructions:
Choosel: if the question can be answered by using cne of the statements alone but not by using the othes
statement elone. Choosed: if the question can be answered by using either of the statements alone.
Cheose3: ifthe question can be answered by using both statements together bist oot by either statameni
alone. Chaosed: if the question cannot be answered on the basis of the twa statements, Layed spends 30%
of his income on his children's educetion, 202 on recreation and 10% en healthcare. The corresponding
pereentage for Sandeep are 4095, 25% and 13%. Who spends mare on children's education? A: Zayed
spends more o recréation than Sandeep B: Sandesp spends more on healthears than Zayed,

s o) Rak L




43

The question i= followed by two statements, A and B, Answer the question using the following instructions:
Chaosel: il the question ean b¢ answered by using ons of the statements alone but not by using the ather
statement alone, Choose2: if the question can be answerad by using either of the statements alone.
Choose3: if the question can be answersd by using hoth statements together but not by either statement
aleme. Choosed: if the question cannot be answered on the basis of two statements. Tarum is standing 2
steps to the left of n green mark and 3 steps to the right of o black mark, He tosses a coln, [f it comes up
eads, he moved one step to the right, otherwize he maoves one step to the lefi. He keeps doing this until he
reaches one of the two masks, and then be stops, At which mark does he stops? A: he stops at 21 coin
tosses. B: he obtains three more tails than heads.

L]
| I E L

dd.

There are two water tank A and B, A is moch smaller than B. Whils water fills at rate of one liter avery
hour in A, it gets filled up like 10, 20, 40, 80, 16..in tank B. (At the end of first hour, B has 10 litres, second
Teour it has 20, and 20 on). 1f=nk B is 178 Glled afier 7 hioirs, what is the todal duration required to fill it
complerely?

= 10 hours
= 9 hours
# 11 hours
= 3 hours

45

A sheet of paper has statements numbered from 1 to 10, For all values of 5 from 1 to [0, statement n says:
“Exzetly n of the statements on this sheet are false.” Which statements ere true and which are false?

The even numbered sialements are true and the odd nuinbered stetements are flse,
*  The second last statement is true and the rest are flse,
=  The odd numbered statements are true and the even numbered statements are false.
* Al the stalements are false,

46,

Alok is attending 2 workshop 'How to do more with less' and today’s theme is Working with fewer digits.
The speakers discuss how a lot of miraculons mathematics can be achieved if mankind (25 we a5
womenkind) had only worked with fewer digits. The problem posed at the and of the workshop is 'How
many 6 digit numbers can be formed using the digits 1.2,3,4,5, (but with repetition) that are divisible Ty 27
Can you help Alok find the answer?

o 3006
3907
« 3125
L]

1250



47,

The dynamics of erowd behaviour are hard to study becauss useally people are not relinhle witness of their
own behaviour. Now consider 4 people standing in the gueve of a supermarket. You want to prediet their
behavicur based on their age group. You get to know fo the supermarket records that their average age 3
years ago was 48 years. After a while, another person joins the quens and the present average of all the 5 s
40 years. The present age of the last persan in the quane js

= 38 vears

35 years
® 4] yoars
= 26 vears

45,

Alice and Bob play the following colns-on-z-stack game. () coins are stacked one above the other. One of
them is a special (gold) coin and the rest &re ordinary coins. The goal is to bring the gold eoin to the top of
the repeatedly moving the topmast coin to enother position in the stzck. Alice starts and the plavers ke
mrns. A turn consists of moving the coin on the top 1o a position I below the top coin {for some T between 0
end 190). We will call this 5 j-move (thus a O-move implies doing nothing). The proviso is that an i-mave
cannat be repeated, for example once 2 player makes & 2-mave, on sebssquent wrns neither plaver can
make 2 2-move. [Fthe gol coin happen to be on the top when it's & player's turn then the player wins the
game. Initially, the gold coin is the third coin fFom the top. Then

In order to win, Alice’s first move should be a 1-maove,

Alice has no winning strategy.
* Inorder to win, Alice’s first move can be a D-moveor a [-move,
*  Inorder to win, Alice's first move should be a O-mave.

49,

There are two water tenks A and B, A is much smaller than B, While water fills at the rate of one litrs every
hour in A, it gets filled up like 10, 20, 40, £0, 160 . in tank B. (At the end of first hour, B has 10 limres,
second bour it has 20, and so on). Iftank B is 1/16 filled after 16 haues, what is total duration reguired to
fill it completely?

« 19 hours
= 0 hours
= 4 hours

s 2] hours

a,

Consider two mimblers, the first containing ene liwe of milk ad the second containing ane litre of coffes.
Suppose you take one glass of milt out of the first tumbler and pour it into the second tmbler. After mixing
you take ane glass of the mixture from the second tumbler and pouT it back into the first umbler. Which
ong of the following statements holds now?

Waone of the statements holds fris.

There is less coffee in the first tumbler than milk in the secand nenbler.

There is a3 much coffee in the first mbler as thess §s milk i the second twmbler.
There is more coffee in the first mmbler than milk in the gecond tumblag,

L I ]



51.

A cireular dashboard of radius 2.0 foot is at a distance of 20 feet from you. You throw a dart at it and it hits
the dartboerd at some point § in the circle. What is the probability that Q) is closer to the center of the circls
than the periphery?

a7

« 100

B

« 50
57,

4 sheet of paper has statements numbered from 1 fo 10, For all values of n from 1 to 10, statement n s2ys:
“Exactly n of the siztements on this sheet are false.” Which statements ase true and which are false?

All the statements are false,

The second last statement is true and the restare false.

The even numbered statements are true and the odd numbered statements are false.
The odd numbered statements are true and the even numbered statements are false,

- 8 = W

53,

Consider two vessels, the first containing one litre of oil and the second containing one lits of coffee.
Suppose you take ene spoon of ofl out of the first vessel and pour it into the second vessel, Afier mixing
vou take ome spoon of mixmre from the second vessel and pour it back into the first vessel. Which one of
the following statements holds now?

Mone of the statements holds trwe,
There is less caffes in the first vessa] than oil in the sccond vessel.
e There is more coffee in the first vessel than oil in the second vessel.
&  There is a5 much coffee in the first vessel as there is oil in the second vessel

&4,

There are fwo water tanks A and B, A is much smaoller than B, While water fills at the rate of ane lire every
hour in A, it gets flled up Tke 10, 20, 40, 80, 160 .. in tank B. (At the end of first hour, B has 10 litres,
second hour it has 20, and 20 on). If tank B is 1/32 filled after 19 hours, what is total duration required to
fill it completely?

= 5 hours

s 23 hours
« 24 hours
s 25 hours



55,

The question is followed by two statements, A and B. Answer the question using the following instructions:
Choosel: if the question can be enswered by using one of the statements alone bt not by using the other
statement elone. ChooseZ: if the guestion can be answered by using either of the statements alone.
Chopse3: if the question can be answered by using both statements together but not by either statement
glone. Choosed; if (he gquestion cannot be answered on the basis of two statements. Zayed spends 30%: of
his incoms on hiz children's education, 20% on recreation and 10% on healtheare, The corresponding
percentage for Sandeep are 40%, 25% and 13%. Who spends more on children’s education? A: Zayed
spends mare on recreation than Sandeep B: Sindeep spends more on healthcara than Zayed.

bd g bl =
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The question is followed by two statements, A4 and B. Answer the question using the following instructions:
Choosel: if the question can be answered by using ong of the statements alone but not by using the ather
statement elone. Choose2: if the question can be answered by using either of the statements alone.
Choose3: if the question can be answered by nsing both statements together but not by either statament
alone, Choosed: if the question cannot be answered on the basis of two statements. Tarak is standing 2
steps to the left of a vellow mark and 3 steps to the right of a grey markc He tosses a coin, 1§ it comes up
heads, he moves one stap to the right, otherwise he moves one step lo the left. He keeps doing this until he
reaches one of the two marks, and then he stops, At which mark does he stops? A- he stops at 21 cain
tosses. B he obtains three morz tails than heads,

2
« 3
4
|
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A sheet of paper has statements numbered from 1 to 10 For all values of n from 1 to 1, statement o says
‘Exactly n of the statemicnts on this shest are false.” Which stalements are e and which are false?

The even numbered statements are true and the odd numbered statements are falss,
The second last statement is true and the rest are false.

The odd numbered statements are frue and the even numbered statements ere false.
All the statements are folse.

LI
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There are owo boxes, enie contains 47 red balls and the other containing 46 green balls. You ere allowed 1o
move the balls between the boxes so that when you choose 2 box at randern and a ball at ranfom from the
chosen box, the probability of getring a red ball is maximized. This maximum probability is

a .75
« 50
Bk
s 5]
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Consider two vessels, the first containing one litre of ink and the second centaining one litre of cola.
Suppase you take cne glass of ink out of the first vessel and pour it info the second vessel. After mixing
vou tike one glass of mixture from the second vessel and pour it back into the first vessel. Which ane of the
following statements holds now?

There is a¢ much cola in the fret vessel as there is ink in the secand vesszl,
Mone of the statements holds true.

There is mare cola in the first vessel thean ink in the second vessel.

There 15 less cola in the first vessel than ink in the second vessel.

= = @ ¥

0.

36 people {al, a2, ..., 136} meet and shake hand in & circalar fashinn. In other words, there are totally 36
handshakes invalving in the pairs, {al.a2}, {a2,23}, ..., {225, u36}, {ad6, al}. Then the size of the
smallest set of people such that the rest have shaken hands with at least one person in the szt is

11
1§
12
13
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